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Al 81,600
02 UAAMBE 200,000 400,000 200,000
OEANURXIXH AL 200,000
2 100,000
= 18,400
Al 81,600
#™2AHY| 40,215 68,622 A28,407
ol 2ot (5 & 1) 21,715 21,562 153
ol 2| (5 & 1) 21,715 21,562 153
101 Q124H| 17,515 17,362 153
03 RINHA2E XS4 7,515 17,362 153
O=HALBE(1Y) 7,515
203 HREZY| 4,200 4,200 0
04 BASHAREZAY| 4,200 4,200 0
ORMeY eETY| 4,200
[CETIEE-T) 8,500 47,060 28,560
p[CETIEF-Tn) 18,500 47,060 28,560
201 Yot Y| 3,000 22,060 A19,060
01 AFR 22l 3,000 21,220 A18,220
o3| 3,000
202 01t 14,000 20,000 6,000
01 =2Ujoi | 14,000 20,000 6,000
OsHAL =& 4,000
405 X+otE S| 1,500 5,000 A3,500
01 XY SEF S| 1,500 5,000 3,500
OPIglQl AEE STIME 7 1,000
omzI 2Y 500
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